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Grade 10 Add Math      Tutorial 1 – Indices, Surd & Binomial Expansion       1/9/10
Due on 8/9/10 (Wednesday)    






50 marks

Answer all the questions in A4 size paper

1) Simplify:
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(i)  
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2) Solve the following equations.






[10]

[image: image3.wmf](

)

(

)

(

)

.

0

27

3

4

3

)

(

0

5

5

6

5

)

(

27

9

)

(

64

1

2

)

(

1

2

2

1

1

3

2

=

+

×

-

=

+

×

-

=

=

+

-

-

x

x

x

x

x

x

x

iv

iii

ii

i


3) Find the first three terms of the expansion, in ascending powers of x, of 
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Hence obtain the coefficient of 
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in the expansion of 
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4) Expand (1 + x)15 in ascending powers of x up to and including the term x3.  Hence evaluate (1.01)15 correct to three decimal places.
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5) Find the term independent of x in the expansion of 
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6) Write down and simplify the first three terms in the binomial expansion of 
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in descending powers of x, and find the term which is independent of x.

[5]

7) Find the first three terms in the expansion of 
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, in ascending powers of x.
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8) Given that 
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a) Find the value of k, the value of p and the value of q.

b) Using your values of k, p and q, find the numerical coefficient of x3 term in the expansion of 
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9) Expand 
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in ascending powers of x up to and including the term in x2. The coefficients of x and x2 in the expansion of 
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are 0 and –36 respectively.  Find the values of a and b, given that a>0 and b<0.
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